

LAI Retake, 16 March 2018.

1a)
$$\begin{bmatrix} 2 & 2 & 1 & -4 \\ -2 & -2 & -4 & 4 \\ 1 & 1 & 4 & -2 \\ 3 & 3 & 2 & 1 \end{bmatrix} \xrightarrow{\substack{r_1 \leftrightarrow r_1 + r_2 \\ \text{then } r_2 \leftrightarrow r_2 - 2r_1}} \begin{bmatrix} 0 & 0 & -3 & 0 \\ 0 & 0 & -12 & 0 \\ 1 & 1 & -4 & -2 \\ 3 & 3 & 2 & 1 \end{bmatrix} \rightsquigarrow \begin{bmatrix} 1 & 1 & 0 & -2 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 0 \\ 3 & 3 & 2 & 1 \end{bmatrix}$$

$$\rightsquigarrow \begin{bmatrix} 1 & 1 & 0 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \\ 0 & 0 & 0 & 0 \end{bmatrix}$$

b) Equations:
$$\begin{aligned} x_1 + x_2 &= 0 & x_1 &= -x_2 \\ x_3 &= 0 & x_2 &= x_2 \\ x_4 &= 0 & x_3 &= 0 \\ & & x_4 &= 0. \end{aligned}$$

Sol'n set =
$$\text{Span} \left\{ \begin{bmatrix} 1 \\ -1 \\ 0 \\ 0 \end{bmatrix} \right\}$$

2a)
$$\det A = -\det \begin{bmatrix} 0 & -1 & -2 \\ 1 & -1 & 1 \\ 1 & -2 & 0 \end{bmatrix} = - \left[1 \cdot (1 \times 0 - 1 \times 1) - 2 \cdot (1 \times (-2) - 1 \times (-1)) \right]$$

$$= - \left[-1 - 2(-1) \right] = -1$$

$r_1 \mapsto -r_1$

$r_2 \mapsto r_3$

$r_3 \mapsto -r_3$

2b)
$$\left[\begin{array}{cccc|cccc} -1 & 0 & 0 & 0 & 1 & 0 & 0 & 0 \\ 0 & 0 & -1 & -2 & 0 & 1 & 0 & 0 \\ 0 & 1 & -1 & 1 & 0 & 0 & 1 & 0 \\ 0 & 1 & -2 & 0 & 0 & 0 & 0 & 1 \end{array} \right] \rightarrow \left[\begin{array}{cccc|cccc} 1 & 0 & 0 & 0 & -1 & 0 & 0 & 0 \\ 0 & 1 & -1 & 1 & 0 & 0 & 1 & 0 \\ 0 & 0 & 1 & 2 & 0 & -1 & 0 & 0 \\ 0 & 1 & -2 & 0 & 0 & 0 & 0 & 1 \end{array} \right]$$

$r_4 \mapsto r_4 - r_2$
$$\left[\begin{array}{cccc|cccc} 1 & 0 & 0 & 0 & -1 & 0 & 0 & 0 \\ 0 & 1 & -1 & 1 & 0 & 0 & 1 & 0 \\ 0 & 0 & 1 & 2 & 0 & -1 & 0 & 0 \\ 0 & 0 & -1 & -1 & 0 & 0 & -1 & 1 \end{array} \right] \xrightarrow{\substack{r_2 \mapsto r_2 + r_3 \\ r_4 \mapsto r_4 + r_3}} \left[\begin{array}{cccc|cccc} 1 & 0 & 0 & 0 & -1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 3 & 0 & -1 & 1 & 0 \\ 0 & 0 & 1 & 2 & 0 & -1 & 0 & 0 \\ 0 & 0 & 0 & 1 & 0 & -1 & -1 & 1 \end{array} \right]$$

$r_2 \mapsto r_2 - 3r_4$
 $r_3 \mapsto r_3 - 2r_4$

$$\left[\begin{array}{cccc|cccc} 1 & 0 & 0 & 0 & -1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 & 0 & 2 & 4 & -3 \\ 0 & 0 & 1 & 0 & 0 & 1 & 2 & -2 \\ 0 & 0 & 0 & 1 & 0 & -1 & -1 & 1 \end{array} \right]$$

$$A^{-1} = \begin{bmatrix} -1 & 0 & 0 & 0 \\ 0 & 2 & 4 & -3 \\ 0 & 1 & 2 & -2 \\ 0 & -1 & -1 & 1 \end{bmatrix}$$

2c) $\det A^{-1} = \frac{1}{\det A} = \frac{1}{-1} = -1$

2d) $\det 2A = 2^4 \det A = -16$

$$3a) \frac{u}{2} - \frac{v}{2} = \begin{bmatrix} \frac{3}{2} \\ \frac{1}{2} \end{bmatrix} - \begin{bmatrix} \frac{1}{2} \\ \frac{1}{2} \end{bmatrix} = \begin{bmatrix} 1 \\ 0 \end{bmatrix}$$

$$b) T\left(\frac{u}{2} - \frac{v}{2}\right) = \frac{1}{2}T(u) - \frac{1}{2}T(v) = \frac{1}{2} \begin{bmatrix} 1 & 0 \\ 8 & \end{bmatrix} - \frac{1}{2} \begin{bmatrix} 4 \\ 4 \end{bmatrix}$$

$$= \begin{bmatrix} 5 \\ 4 \end{bmatrix} - \begin{bmatrix} 2 \\ 2 \end{bmatrix} = \begin{bmatrix} 3 \\ 2 \end{bmatrix}$$

$$c) T\left(\begin{bmatrix} 1 \\ 0 \end{bmatrix}\right) = T\left(\frac{u}{2} - \frac{v}{2}\right) = \begin{bmatrix} 3 \\ 2 \end{bmatrix}$$

$$d) \begin{bmatrix} 0 \\ 1 \end{bmatrix} = \begin{bmatrix} 1 \\ 1 \end{bmatrix} - \begin{bmatrix} 1 \\ 0 \end{bmatrix} = 1 \cdot \left(\frac{u}{2} - \frac{v}{2}\right)$$

$$T\left(\begin{bmatrix} 0 \\ 1 \end{bmatrix}\right) = T(u) - T\left(\begin{bmatrix} 1 \\ 0 \end{bmatrix}\right) = \begin{bmatrix} 4 \\ 4 \end{bmatrix} - \begin{bmatrix} 3 \\ 2 \end{bmatrix} = \begin{bmatrix} 1 \\ 2 \end{bmatrix}$$

e) Standard matrix $\begin{bmatrix} 3 & 1 \\ 2 & 2 \end{bmatrix}$

4a Linear: Say $\Pi = \begin{bmatrix} 1 & 2 \\ 3 & 4 \end{bmatrix}$, Then $T(u+v) = \Pi(u+v) = \Pi u + \Pi v = T(u) + T(v)$
 $T(cu) = \Pi(cu) = c(\Pi u) = cT(u)$

b) Linear. $T(u+v) = 0 = T(u) + T(v)$
 $T(cu) = 0 = cT(u)$

c) Not linear. $T(-1 \begin{bmatrix} 1 \\ 1 \end{bmatrix}) = \begin{bmatrix} 1 \\ -1 \end{bmatrix} \neq -1 T\left(\begin{bmatrix} 1 \\ 1 \end{bmatrix}\right) = \begin{bmatrix} -1 \\ -1 \end{bmatrix}$

d) Linear: composed of linear functions is linear.

e) Linear because $f_b \circ f_c = f_b$ which is linear.

